N = 0l & At & Ml A

201789 =3 2 3 LHAFHINYG XA &XH

R =R ESE=an)y
g uX &d 2 SsHA

Sl B EA FENY NRMY(LHAFHIY NRAY) (S &2)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
ZHE S0 26,473 23,900 2,573

= 23,900 23,900 0

- 2,573 0 2,573

X etd 2 SZHA 26,473 23,900 2,573

= 23,900 23,900 0

- 2,573 0 2,573

LA FHXSE NFAS(EHAFHI Y NAY) 26,473 23,900 2,573

= 23,900 23,900 0

- 2,573 0 2,573

2L FEHIY JI2XEAE 26,473 23,900 2,573

= 23,900 23,900 0

- 2,573 0 2,573

401 AIEBIZ 2 CHYI 23,473 20,900 2,573

= 20,900 20,900 0

T 2,573 0 2,573

01 A& HI 23,473 20,900 2,573
OF0IAE HUTABEH Ha

Z & 23,473,000 23,473 20,900 2,573

= 20,900 20,900 0

- 2,573 0 2,573




